5T 5 DS : {1 BF 090226 4k R 2nd singularity D : #5 ~#7 (10 i)
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;a] B (K5-30) v—data: #5 DS : [#5-2]
tkk (4,4,4,5,5,8)
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##4,4,4.5,5.8
*124-3%285-7-3%48-9-5*47-656%*791010-8*113810-9-6-2
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*791010-8

*113810:9:6-2
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*Reducible to 4TEDS : — & (K4-08)

-BERAEDTERE : L(16,7)

Sedkkkkkckkkkkkkkkkkkkkkkkkkkk kb kk ko k ke

(K5-30)

Fkhkhkhkkkkokhkkkkkkk ko ko ke kokokok ok ck Rk ck ko sk sk ks sk ok
1-label (2)) T piping

— 2.label €3,7,-5) T3 -5 L

— 2-label {1,4,*) T3HELOEL

—{R[# (K4-08) = Matveev (M4-06) : tkk = (4,4,4,4.8) #
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